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Name: Block: A!gebra | Week 2
Day 1 5 Day 2
simplify the following: 5x +3 — 2x + 4 implify V25
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Simplify the following: -7(4x — 6) Simplify V81
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Simplify the following: 5x(3x — 4) Simplify v 144
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Simplify the following: 4x(3x +4) +3(3x + 4) Simplify V36x©
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Day 3 Day 4

Solve the following: x + 4 = 2 Solve the following: 3x —4 =8
Solve the following: 3x = 8 Solve the following: 4 —x =7
Solve the following: x — 7 = —5 Solve the following: =T _4

3
Solve the following: E =2 Solve the following: E +9=-1

Solve the following: gx =6 Solve the following: %x —5=2
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